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1. B A+B+C=x, RiF: (1) cos® A+cos? B+cos’C+2cos AcosBcosC =1;

A
(2) tanétanEHanEtanE+tan9tan—:10
2 2 2 2 2 2

12 &% A+B+C=x, KiE: SHEBNSHX Y, 2, 195

X2 +y® +12? >2yzcos A+ 2zxcos B+ 2xycosC ,

513, &5 o, fERsINZ a+sin? f=sin(a+ ), KiF: awzgo

B4 Ha byt BapEx +aC+b +ax+1=0EPE—AHR kKa’+b
5/ME,

%15 % AC,B,DREZL EARHAFIMNMAN R, ORCDHRLBEOZEABREM. 52 5IM

TH AR FHEH A B;C, D Z2IAF =5,

1 2t r. (2) OC?=0D?=0A.0B"
AB_ AD T AC

(3) AC-AD=AB-AO : (4) AB-OD=AC-BD.
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6. ©0,500,#%F A B, I Ak ABHEL, #7731 00,00,FM,N, P2 MN
s, AQRAHEOO, 500, £, ZAOQ=,A0,R. Kif: PQ=PR,
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